


No contractors are dependable. Some engineers are contractors.
Therefore, some engineers are not dependable.

Every passenger either travels in first class or second class. Each passenger is in
second class if and only if he or she is not wealthy. Some passengers are wealthy.
Not all passengers are wealthy. Therefore, some passengers travel in second class.



Everyone likes everyone.

Someone likes someone.

Everyone likes someone.

Someone likes everyone.

Everyone is liked by everyone.

Someone is liked by someone.

Someone is liked by everyone.

Everyone is liked by someone.

If everyone likes everyone, then someone likes everyone.

If some person is liked by everyone, then that person likes himself/herself.



The sum of ages of two children is never more than or equal to the sum of ages of their parents.

The age of a person is greater than the age of his/her grandchild.

The age of a person is more than the age of his/her child.

If x is greater than y and y is greater than z, then x is greater than z.






